Eisercizi sulla derivazione di funzioni composte

January 30, 2003

(1) Sia f € C1(R3,R) e sia
9(x,y,2) = f(z°y, + z,sin(z))
Calcolare Vg(0,1,1) e g—g(o, 1,1).
(2) Sia f € C(R?,R) e sia
9(z,y) = (f(z,2%),y)
Scrivere Jg(1,1).
(3) Siano f,g € C'(R?,R) e sia
h(z,y) = f(zy. 9(z,y))
Scrivere Vh(1,0).
(4) Siano f,g € C1(R?,R) e sia
v(z,y,2) = (f(z,2),9(z,2)y)
Scrivere Ju(0,1,0).
(5) Sia f € C*(R3,R) e sia
9(z) = f(z,ze", 1)
Calcolare ¢'(z).

Soluzioni. (1) Sia
95/(0,1,0),0,9,f(0,1,0
f = f(u,v). Allora

= f(u,v,s). Allora Vg(0,1,1) = (9,f(0,1,0) +
) € 029(0,1,1) = 9,f(0,1,0) + 9, f(0,1,0). (2) Sia

Tg(1,1) = [ Ouf(1,1) —i[—)ZQUf(l,l) (1) ]

(3) Siaf = f(u,v). Allora, Vh(1,0) = (9,f(0,9(1,0))8,9(1,0), 3, f(0,9(1,0))+
0y f(0,9(1,0))0,9(1,0)). (4) Sia g = g(u,w). Allora,

_ 9. f(0,0) 0 0,f(0,0)
7010 = | 405 oo s00 o

(5) Se f = f(u,v), allora ¢'(z) = Oy f(z,ze”,1) + Oy f (z, ze”, 1)e” (z + 1).
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